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3. 3(2%) = 12
— 3(2%) = 3.27
— 2% = 27
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1. log,64 =3
- 64 = x3
— 43 = x3 > x =4
2.1ogyx =3
- x =43
- x = 64
3. log, 64=X
- 64 = 4%
— 43 = 4%
- Xx=3
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5. logg(x + 5) =3
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6.log,(x —7) =3
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XxX—7=28
x=8+4+7
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8.log5 +logx =2
— log(5x) = 2

— 5x = 102
5x 100

9.53 = (x +2)3
> 5=x+2
> Xx=5-2

— X =

‘ https//droocy.com (P 3S.ru90) Aparhadl) daiall ‘




= ] 11-0laaly ; == All in one - Jalill yadldl

10. log(x + 5) = log(2x — 7)
log(x +5) —log(2x —7) =0
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10g(2x—7)=0
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2x —x=5+7
x =12
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12.log(x + 1) —log(2x—7) =0

x+1=2x—-7
2x—x=14+7
X =28
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